
 

 

VII-1.Number System 

EXERCISE 1 

LEVEL 1 

1. ቀଷ
ଶ
− ଶ

ଷ
ቁ− ݔ = − ଵ

଺
 

ଽିସ
଺
− ݔ = − ଵ

଺
  

ହ
଺

+ ଵ
଺

= ݔ = 1  

2. ቀଶ
ଷ

+ ଷ
ହ
ቁ+ ݔ = − ଶ

ଵହ
 

ଵ଴ାଽ
ଵହ

+ ݔ = − ଶ
ଵହ

   

ݔ  = − ଶ
ଵହ
− ଵଽ

ଵହ
= − ଶଵ

ଵହ
= − ଻

ହ
  

3. ቀଵ
ଶ

+ ଵ
ଷ

+ ଵ
ହ
ቁ+ ݔ = 3 

ଵହାଵ଴ା଺
ଷ଴

+ ݔ = 3  

ݔ  = 3 − ଷଵ
ଷ଴

= ହଽ
ଷ଴

  

4. ଷ
଻
− ݔ = ହ

ସ
 

ݔ  = ଷ
଻
− ହ

ସ
= ଵଶିଷହ

ଶ଼
= − ଶଷ

ଷ଼
  

5. (a) ଷ
ଵଶ

+ ଷହ
଺
− ହଶ

ଶସ
= ଷ

ଵଶ
+ ଷହ

଺
− ଵଷ

଺
= ଷ

ଵଶ
+ ଶଶ

଺
= ଷାସସ

ଵଶ
= ସ଻

ଵଶ
 

(b) ଵ
ଵସ

+ ହ
ଶଵ

+ ଶ଻
ଵସ

= 2 + ହ
ଶଵ

= ସ଻
ଶଵ

 

(c) − ଺ହ
଺
− ହ଺

ଵହ
+ ଷ

ଵ଴
= ି଺ହ×ହିହ଺×ଶାଷ×ଷ

ଷ଴
= − ସଶ଼

ଷ଴
= − ଶଵସ

ଵହ
 

(d) ଵହ
଺଺
− ଷ଺

ଷ଺
+ ଽ଴

ଵଽହ
= ହ

ଶଶ
− 1 + ଶ

ଵଷ
= ହ

ଶଶ
− ଵଵ

ଵଷ
= ଺ହିଶସଶ

ଶ଼଺
= − ଵ଻଻

ଶ଼଺
 

6. − ଵହ
ଶ଼

× ݔ = − ହ
଻
 

ݔ  = −5 × ଶ଼
ିଵହ×଻

= ସ
ଷ
  



 

 

7. − ଵ
଺

× ݔ = − ଶଷ
ଽ

 

ݔ  =  −23 × ି଺
ଽ

= ସ଺
ଷ

  

8. − ଼
ଷ

× ݔ = 24  

ݔ = 24 × ଷ
ି଼

= −9  

9. −10 × ݔ = 15 

ݔ  = ଵହ
ିଵ଴

= − ଷ
ଶ
  

10. − ସ
ଵହ

× ݔ = − ଼
ଽ

  

ݔ = ିଵହ×଼
ଽ×ସ

= − ଵ଴
ଷ

  

11. (a) Proper (as less than 1)      (b) Mixed    (c) improper (as more than 1)  (d) improper (1 is improper) 

(e) improper (as more than 1)  (f) Mixed   (g) improper (as more than 1)  (h) proper (as less than 1)   

(i) Mixed    (j) proper (as less than 1)   

12. (a) ଼×଺ାଷ
଼

= ହଵ
଼

 

(b) ଶ×ଵ଻ାଵହ
ଵ଻

= ସଽ
ଵ଻

 

(c) ଵଽ×ହାଵଶ
ଵଽ

= ଵ଴଻
ଵଽ

 

(d) ଵହ×ଽାସ
ଵହ

= ଵଷଽ
ଵହ

 

(e) ଵଶ×ଵଵାଵଵ
ଵଶ

= ଵସଷ
ଵଶ

 

13.(a)  ଻ଵ
ଵଷ

= ଵଷ×ହାହ
ଵଷ

= 5 ହ
ଵଷ

 

(b) ଼଴
ଵ଻

= ଵ଻×ସାଵଶ
ଵ଻

= 4 ଵଶ
ଵ଻

 

(c) ଵ଴଴
ଵଵ

= ଵଵ×ଽାଵ
ଵଵ

= 9 ଵ
ଵଵ

 

(d) ଵ଴ଷ
଼

= ଼×ଵଶା଻
଼

= 12 ଻
଼
 

(e) ଵଷହ
ଵ଺

= ଵ଺×଼ା଻
ଵ଺

= 8 ଻
ଵ଺

 

14. (a) ଵ଻×ଷ
ଵ଻×ସ

= ଷ
ସ
 



 

 

(b) ଵସ×ହ
ଵସ×଼

= ହ
଼
 

(c) ଵ଺×ହ
ଵ଺×ଽ

= ହ
ଽ
 

(d) ଵଽ×ସ
ଵଽ×଻

= ସ
଻
 

(e) ଵ଻×଻
ଵ଻×ଽ

= ଻
ଽ
 

15. (a) ଺
ଵଵ

: ଵଶ
ଶଶ

; ଵ଼
ଷଷ

; ଶସ
ସସ

; ଷ଴
ହହ

 

(b) 0: ଴
ଶ

; ଴
ଷ

; ଴
ସ

; ଴
ହ
 

(c) 6: ଵଶ
ଶ

; ଵ଼
ଷ

; ଶସ
ସ

; ଷ଴
ହ

 

(d) ଵ଴
ଵଷ

: ଶ଴
ଶ଺

; ଷ଴
ଷଽ

; ସ଴
ହଶ

; ହ଴
଺ହ

 

(e) ଵସ
ଽ

: ଶ଼
ଵ଼

; ସଶ
ଶ଻

; ହ଺
ଷ଺

; ଻଴
ସହ

 

16. 24 ଵ
ଶ

= 1 ଷ
ସ

× ݔ => ସଽ
ଶ

= ଻
ସ

× ݔ => ݔ = 49 × ସ
଻×ଶ

= 14 

So 14 pieces can be cut. 

17. SP = ଷ
ହ

× ݁ܿ݅ݎ݌ ݀݁݇ݎܽܯ = ଷ
ହ

× 160 = 96 

18. ଶ
ଷ

× ݔ = 486000 

ݔ  = 486000 × ଷ
ଶ

= 729000 : worth of estate 

19. as ¾ th is solved so 1/4th is remaining. 

ଵ
ସ

× 32 = 8 = Problems remaining. 

20. ସ
ହ

× ܦ = 48  

ܦ = 48 × ହ
ସ

= 60=Total distance 

Distance remaining = 60-48=12 km 

21. 35 + ଷ
଼

ܦ× =  D= total journey                                  ܦ

35 × 8 = ܦ8 −    ܦ3

280 =    ܦ5



 

 

ܦ  = 56 km 

22 (a) d=sum of digits at even place-sum of digits at odd place 

d= 16-16=0   (so divisible by 11) 

(b) d=sum of digits at even place-sum of digits at odd place 

d=2-3=-1 (not divisible) 

(c) d=sum of digits at even place-sum of digits at odd place 

d=  11-22=-11 (divisible by 11) 

(d) d=sum of digits at even place-sum of digits at odd place 

d= 15-10=5 (not divisible by 11) 

(e) d=sum of digits at even place-sum of digits at odd place 

d= 16-16=0 (divisible by 11) 

(f) d=sum of digits at even place-sum of digits at odd place 

d= 7-24=-17 (not divisible by 11) 

23. (a) S=sum of all the digits 

S= 15 (Divisible by 3) 

(b) S=sum of all the digits 

S= 27 (Divisible by 3) 

(c) S=sum of all the digits 

S= 23 (not divisible by 3) 

(d) S=sum of all the digits 

S= 29 (not divisible by 3) 

(e) S=sum of all the digits 

S= 15  (divisible by 3) 

(f) S=sum of all the digits 

S= 36 (divisible by 3) 



 

 

(g) S=sum of all the digits 

S= 24 (divisible by 3) 

(h) S=sum of all the digits 

S= 23 (not divisible by 3) 

(i) S=sum of all the digits 

S= 32 (not divisible by 3) 

In b and f only sum of digits is divisible by 9 or we can say divisible by 9. 

24.(a) Its even so divisible by 2. 

 S=sum of all the digits 

S=25 (not divisible by 6 as not divisible by 3) 

(b) ) Its even so divisible by 2. 

 S=sum of all the digits 

S= 18 (divisible by 3 ) 

So divisible by 6. 

(c) ) Its not even so not divisible by 2 and thus 6. 

 (d) ) Its even so divisible by 2. 

 S=sum of all the digits 

S= 22 (not divisible by 6 as not divisible by 3) 

(e) Its even so divisible by 2. 

 S=sum of all the digits 

S= 24 (divisible by 3) 

So divisible by 6. 

(f) Its even so divisible by 2. 

 S=sum of all the digits 

S= 21 (divisible by 3) 

So divisible by 6. 



 

 

LEVEL 2 

1. − ଷଷ
ଵ଺

÷ ݔ = − ଵଵ
ସ

 

− ଷଷ
଺

× ଵ
௫

= − ଵଵ
ସ

   

ݔ = − ଷଷ×ଷ
ିଵଵ×଺

= ଷ
ଶ
  

2. ቀ− ଵଷ
ହ

+ ଵଶ
଻
ቁ÷ ቀ− ଵଷ

଻
× ିଵ

ଶ
ቁ = ିଽଵା଺଴

ଷହ
÷ ଵଷ

ଵସ
= − ଷଵ

ଷହ
× ଵସ

ଵଷ
= − ଺ଶ

଺ହ
 

3.  let x= length of each trouser 

ݔ24 = 54  

ݔ  = ହସ
ଶସ

= ଽ
ସ

= 2.25  

4. ቀ଺ହ
ଵଶ

+ ଵଶ
଻
ቁ÷ ቀ଺ହ

ଵଶ
− ଵଶ

଻
ቁ = ସହହାଵସସ

଼ସ
÷ ସହହିଵସସ

଼ସ
= ହଽଽ

଼ସ
× ଼ସ

ଷଵଵ
= ହଽଽ

ଷଵଵ
 

5. ଵ
ସ

= ଵଵ
ସସ

 ܽ݊݀  ଵ
ଶ

= ଶଶ
ସସ

 

ଵଶ
ସସ

, ଵଷ
ସସ

; ଵସ
ସସ

; ଵହ
ସସ

; ଵ଺
ସସ

; ଵ଻
ସସ

; ଵ଼
ସସ

; ଵଽ
ସସ

; ଶ଴
ସସ

; ଶଵ
ସସ

   : 10 rational numbers 

6. − ଶ
ହ

= − ଼
ଶ଴

; ܽ݊݀ ଵ
ଶ

= ଵ଴
ଶ଴

 

− ଻
ଶ଴

; − ଺
ଶ଴

;− ହ
ଶ଴

;− ସ
ଶ଴

;− ଷ
ଶ଴

;− ଶ
ଶ଴

;− ଵ
ଶ଴

; ଵ
ଶ଴

; ଶ
ଶ଴

; ଷ
ଶ଴

 : can be any other form also 

7.(i)  ݈݁ݔ ݐ = 0. 7̇  

ݔ10 = 7. 7̇  

Subtract them 

9x =7 

x=7/9 

(ii) ݔ = 3. 8̇ 

ݔ10  = 38. 8̇  

Subtract them  

9x=35 

x=35/9 



 

 

(iii) ݔ = 0. 36തതതത  

ݔ100 = 36. 36തതതത  

Subtract them 

99x =36 

ݔ = ଷ଺
ଽଽ

= ସ
ଵଵ

  

(iv) ݔ = 0. 87തതതത  

ݔ100 = 87. 87തതതത  

Subtract them 

99x =87 

ݔ = ଼଻
ଽଽ

= ଶଽ
ଷଷ

   

(v) ݔ = 4. 26തതതത  

ݔ100 = 426. 26തതതത  

Subtract them 

99x =422 

ݔ = ସଶଶ
ଽଽ

  

(vi) ݔ = 5.23ത   

ݔ10 = 52. 3ത   

ݔ100 = 523. 3ത  

Subtract them 

90x =471 

ݔ = ସ଻ଵ
ଽ଴

= ଵହ଻
ଷ଴

  

8. (i) ଷ
଻

= ଵହ
ଷହ

  ܽ݊݀ ଶ
ହ

= ଵସ
ଷହ

ଷ  ݋ݏ        
଻

> ଶ
ହ
   

(ii) ହ
଺

= ଷହ
ସଶ

    ܽ݊݀ ସ
଻

= ଶସ
ସଶ

ହ  ݋ݏ        
଺

> ସ
଻
 

(iii) ଻
ଵଶ

= ସଽ
଼ସ

     ܽ݊݀  ଽ
ଵସ

= ହସ
଼ସ

ଽ  ݋ݏ      
ଵସ

> ଻
ଵଶ

 



 

 

(iv) ଶ
ଽ

= ଵ଴
ସହ

     ܽ݊݀ ଷ
ହ

= ଵହ
ସହ

݋ݏ      ଷ
ହ

> ଶ
ଽ
 

(v) 4>12/5(2.4) 

(vi) ଵ
ଷ

= ଶ
଺

    ܽ݊݀ ଵ
ଶ

= ଷ
଺

݋ݏ    ଵ
ଶ

> ଵ
ଷ
 

(vii) ଼
ଵଷ

= ଻ଶ
ଵଵ଻

    ܽ݊݀ ଻
ଽ

= ଽଵ
ଵଵ଻

݋ݏ      ଻
ଽ

> ଼
ଵଷ

 

(viii) ଵଵ
ଵହ

= ଵ଼଻
ଶହହ

      ܽ݊݀ ଵଶ
ଵ଻

= ଵ଼଴
ଶହହ

݋ݏ    ଵଵ
ଵହ

> ଵଶ
ଵ଻

  

(ix) ଺
଻

= ଻଼
ଽଵ

   ܽ݊݀ ଽ
ଵଷ

= ଺ଷ
ଽଵ

଺  ݋ݏ    
଻

> ଽ
ଵଷ

 

9. (i) ଶ
ଷ

= ଶସ
ଷ଺

; ହ
଺

= ଷ଴
ଷ଺

; ସ
ଽ

= ଵ଺
ଷ଺

; ଻
ଵଶ

= ଶଵ
ଷ଺

; ଵଷ
ଵ଼

= ଶ଺
ଷ଺

16 ݏܽ           < 21 < 24 < 26 < 30 

ସ
ଽ

< ଻
ଵଶ

< ଶ
ଷ

< ଵଷ
ଵ଼

< ହ
଺
  

(ii) ଷ
ହ

= ସଶ
଻଴

;  ସ
଻

= ସ଴
଻଴

; ଻
ଵ଴

= ସଽ
଻଴

;  ଵଵ
ଵସ

= ହହ
଻଴

; ଵ଼
ଷହ

= ଷ଺
଻଴

  

  ଵ଼
ଷହ

< ସ
଻

< ଷ
ହ

< ଻
ଵ଴

< ଵଵ
ଵସ

  

(iii) ହ
଼

= ଷ଴
ସ଼

; ଵଵ
ଵଶ

= ସସ
ସ଼

; ଵଷ
ଵ଺

= ଷଽ
ସ଼

; ଵ଻
ଶସ

= ଷସ
ସ଼

; ହ
଺

= ସ଴
ସ଼

 

ହ
଼

< ଵ଻
ଶସ

< ଵଶ
ଵ଺

< ହ
଺

< ଵଵ
ଵଶ

  

(iv) ହ
ଽ

= ହ଴
ଽ଴

; ଵଵ
ଵହ

= ଺଺
ଽ଴

;  ଶ
ଷ

= ଺଴
ଽ଴

;  ଵ
ଶ

= ସହ
ଽ଴

;   ଷ
ହ

= ହସ
ଽ଴

   

ଵ
ଶ

< ହ
ଽ

< ଷ
ହ

< ଶ
ଷ

< ଵଵ
ଵହ

  

10. (i) ହ
଻

= ସ଴
ହ଺

; ଷ
ସ

= ସଶ
ହ଺

; ଽ
ଵସ

= ଷ଺
ହ଺

;  ଷ
଼

= ଶଵ
ହ଺

; ଵଽ
ଶ଼

= ଷ଼
ହ଺

   

 ଷ
ସ

> ହ
଻

> ଵଽ
ଶ଼

> ଽ
ଵସ

> ଷ
଼

     

(ii) ଶ
ହ

= ଶସ
଺଴

;  ଷ
ସ

= ସହ
଺଴

;   ଵ
ଶ

= ଷ଴
଺଴

;  ହ
଺

= ହ଴
଺଴

;   ଵ
ଷ

= ଶ଴
଺଴

 

    ହ
଺

> ଷ
ସ

> ଵ
ଶ

> ଶ
ହ

> ଵ
ଷ
  

(iii)ହ
଼

= ଻ହ
ଵଶ଴

;  ଵଵ
ଵହ

= ଼଼
ଵଶ଴

; ଵ଻
ଶସ

= ଼ହ
ଵଶ଴

; ଻
ଵଶ

= ଻଴
ଵଶ଴

;   ଵଽ
ଷ଴

= ଻଺
ଵଶ଴

    

    ଵଵ
ଵହ

> ଵ଻
ଶସ

> ଵଽ
ଷ଴

> ହ
଼

> ଻
ଵଶ

  

(iv) ହ
଻

= ଺଴
଼ସ

; ଷ
ସ

= ଺ଷ
଼ସ

; ଽ
ଵସ

= ହସ
଼ସ

;  ଵ଺
ଶଵ

= ଺ସ
଼ସ

; ଵ଻
ଶ଼

= ହଵ
଼ସ

    



 

 

 ଵ଺
ଶଵ

> ଷ
ସ

> ହ
଻

> ଽ
ଵସ

> ଵ଻
ଶ଼

  

11. (i)3/5 (ii) ½ (iii) 33/72=11/24    (iv) 155/182    (v) 22/28=11/14  (vi)66/99=2/3 

12. (i)1/2=6/12 and ¾=9/12    so ans:7/12;8/12 

(ii) 1/3=5/15 and 3/5=9/15    so ans:6/15,7/15 

(iii) 5/7=60/84  and ¾=63/84    so ans : 61/84 and 62/84 

13. (i) 1/3=8/24   and1/2 =12/24    ans: 9/24;10/24;11/24 

(ii) 7/12=77/132;  9/11=108/132    ans: 78/132 and 79/132,80/132 

(iii) 6/7=78/91   and 12/13=84/91   ans: 79/91,80/91,81/91 

14. 1. ସ
ଷ
− ቄହ

଼
+ ଽିସ

ଵଶ
ቅ = ସ

ଷ
− ହ

଼
− ହ

ଵଶ
= ଷଶିଵହିଵ଴

ଶସ
= ଻

ଶସ
 

2. ଻
ହ
− ቄଷ

ଶ
− ቀଵଷ

ହ
− ହ

ସ
ቁቅ = ଶ଼

ଶ଴
− ቄଷ଴

ଶ଴
− ହଶିଶହ

ଶ଴
ቅ = ଶ଼

ଶ଴
− {ଷ଴ିଶ଻}

ଶ଴
= ଶହ

ଶ଴
= ହ

ସ
 

3. 15-[9+{7-(6-3)}]=15-[9+{7-3}]=15-13=2 

4. ଷଷ
ଶ
− ቂଵ଻

ଶ
+ {11 − (8− 4)}ቃ = ଷଷ

ଶ
− ଵ଻

ଶ
− 7 = 8 − 7 = 1 

5. ଷଵ
ଵ଴
− ቂଷଽ

ହ
÷ ቀଶହ

ସ
− ଵଵ

଼
ቁቃ = ଷଵ

ଵ଴
− ቂଷଽ

ହ
÷ ହ଴ିଵଵ

଼
ቃ = ଷଵ

ଵ଴
− ଷଽ

ହ
× ଼

ଷଽ
= ଷଵ

ଵ଴
− ଵ଺

ଵ଴
= ଵହ

ଵ଴
= ଷ

ଶ
 

6. 1 − ቂ଼
ହ
− ൬ଶଵ

ସ
÷ ቀଶହ

଼
+ ଵଽ

ସ
ቁ൰ቃ = 1 − ቂ଼

ହ
− ቀଶଵ

ସ
÷ ଶହାଷ଼

଼
ቁቃ = 1 − ቂ଼

ହ
− ଶଵ

ସ
× ଼

଺ଷ
ቃ 

= 1 − ଼
ହ

+ ଶ
ଷ

= ଵହିଶସାଵ଴
ଵହ

= ଵ
ଵହ

  

7. ቀଵଽ
ଷ
− ଵଷ

଺
ቁ − ൤ଽ

ଶ
− ቄ8− ቀଶଶ

ଷ
− 3− ଽ

ସ
ቁቅൠ = ଷ଼ିଵଷ

଺
− ቂଽ

ଶ
− ቄ8− ଼଼ିଷ଺ିଶ଻

ଵଶ
ቅቃ = ଶହ

଺
− ቂଽ

ଶ
− ଽ଺ିଶହ

ଵଶ
ቃ 

= ହ଴
ଵଶ
− ହସ

ଵଶ
+ ଻ଵ

ଵଶ
= ଺଻

ଵଶ
  

8. ൬ଷଷ
ସ
− ቀଵଷ

଼
+ ହ

ଶ
ቁ൰÷ [଻

ଶ
+ ቀଵ଻

ଶ
− ൬8− ቀ4− ହ

ଶ
ቁ൰ቃ = ቀ଺଺

଼
− ଵଷ

଼
− ଶ଴

଼
ቁ÷ ቂ଻

ଶ
+ ቀଵ଻

ଶ
− ቀ4 + ହ

ଶ
ቁቅቃ 

= ଷଵ
଼

÷ ቂ଻
ଶ

+ 2ቃ = ଷଵ
଼

× ଶ
ଵଵ

= ଷଵ
ସସ

  

9. ൬ଵହ
ଶ
− ቀଶ଴

ଷ
− ଷଵ

଺
ቁ൰÷ ቂଷ଺

ହ
− ൬ଶଽ

ସ
− ቀ଻

ଶ
− ଽ

ସ
ቁ൰ቃ = ቀଵହ

ଶ
− ସ଴ିଷଵ

଺
ቁ÷ ቂଷ଺

ହ
− ଶଽିଵସାଽ

ସ
ቃ 

= 6 ÷ ቂଷ଺
ହ
− 6ቃ = 6 ÷ ଺

ହ
= 5  

ݔ .15 × 18 ଵ
ହ

= 7  



 

 

ݔ × ଽଵ
ହ

= 7   

ݔ = 5/13  

16. Let total pages be x 

ݔ × ଷ
଼

+ ݔ × ହ
଼

× ଶ
ହ

+ 48 =   ݔ

ଷ௫
଼

+ ௫
ସ

+ 48 =    ݔ

ݔ − ଷ௫
଼
− ଶ௫

଼
= 48  

ݔ3  = 48 × ݔ ݎ݋ 8 = 128  

17. Let total capacity be x L 

ଷ
଻

× ݔ − 28 = ହ
ଵସ

×   ݔ

−28 = ହ௫
ଵସ
− ଺௫

ଵସ
   

ݔ = 14 × 28 = 392  

  

  

 

 

 


